19 10900k / Gigabyte Z490 Vision D - Er lauft

Beitrag von ,,SchmockLord“ vom 2. Februar 2021, 12:52

Ja genau. Bei dir sitzt der 2.5Gbit Ethernet auf PciRoot(0x0)/Pci(0x1C,0x3)/Pci(0x0,0x0)

https://www.hackintosh-forum.de/forum/thread/48568-i9-10900k-gigabyte-z490-vision-d-er-
1%C3%A4uft/?postiID=676536#post676536



https://www.hackintosh-forum.de/forum/thread/48568-i9-10900k-gigabyte-z490-vision-d-er-läuft/?postID=676536#post676536
https://www.hackintosh-forum.de/forum/thread/48568-i9-10900k-gigabyte-z490-vision-d-er-läuft/?postID=676536#post676536

